;> restart
> Sol := int(cos(a-tau)-sin(a- (¢t —tau) ), tau=0..r)

Sol .= % sin(at)t

| > with(inttrans) :

> SolDos = invlaplace[ 55 t)
(s2 + az)
SolDos := % sin(at)t

;> restart
> FEcuacion := y"+2y"-3y'+4y=5-exp(2 x) +x—6 cos(2 x)

3 2
Ecuacion = %y(x) +2 [%y(x)) -3 (%y(x)) +4y(x)=5 Y — 6 cos(2 x)

[> Condni = y(0) =2, D(») (0) =3, D(D(y)) (0) =4

] CondIni =y(0) =2, D(») (0) =-3,D? (1) (0) =4

;> with(inttrans) :

> EcuaTL = subs(CondIni, laplace(Ecuacion, x, s) )

EcuaTl =5 laplace(y(x),x,s) +8 —s—2 425 laplace(y(x), x,s) — 3 s laplace(y(x), x,
5 n 2 b5

s—2 S s +4

> SolTL = simplify(isolate( EcuaTL, laplace(y(x), x, s)))

25 =35 —25"+35 —285 +865 —45 +8s5—16

(s—2)s3 (s2-|-4) (s3+2s2—3s+4)

s) +4 laplace(y(x), x,s) =

SolTL = laplace(y(x), x, s) =

> SolPart := invlaplace(SolTL, s, x)

SolPart :=y(x) = 1121;72 Z (6009 o* + 16406 o —3163) e**
_a=RootOf( B +2 72—-3 7+4)
5w, 1 3 12 6 21
I + 14 e+ % + 2 X+ 4 + 53 cos(2x) + 53 sin(2 x)
> plot(rhs(SolPart),x=0.2)
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> Comprobacion = expand(eval(subs(y(x) =rhs(SolPart), lhs(Ecuacion) — rhs(Ecuacion)

=0)))

Comprobacion := 1 15137 5 Z (6009 _as e+ 16406 _a4 e 3)
_a=RootOf( B +2 723 7+4)
—3163 o’ ™) + 59% > (6009 o e**+ 16406 o e
_a=RootOf( 73 +2 723 7+4)
—3163 a’e™) — 11372 (6009 o e 416406 o e**
_a=RootOf( B +2 2 —3 Z+4)
—3163 ae"’) + ﬁ > (6009 o "+ 16406 o e*"
“a=RootOf( 2B +2 22 -3 Z+4)
| —3163e"Y) =0
> Ecuacion
AP (i G (i y(x)) 4 y(x) =5 + 22 — 6 cos(2 x) ©)
dx’ dx? dx
> Q = rhs(Ecuacion)
0:=5e""+x"—6cos(2 x) (10)



> EcuaCarac = m3+2m2—3m+4=0

i EcuaCarac:=m +2m* —3m+4=0 a1
> Raiz = solve(EcuaCarac) : evalf (%, 3)
i -3.28,0.643 —0.890 1, 0.643 + 0.890 1 12)
> exp(Raiz[1]-x) :yy[1] = evalf (%, 3)
. —3.28x
W =e 13)
_> exp(Re(Raiz[3]) -x)-cos(Im(Raiz[3])-x) : yy[2] = evalf (%, 3)
yyy =" ¥ cos(-0.890 x) (14)
> exp(Re(Raiz[2]) -x)-sin(Im(Raiz[2]) -x) : yy[3] = evalf (%, 3)
;=" sin(-0.890 x) (15)




